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1) TRADE THEORY
Question No. 1/ Question ID 178 Marks: 2.00
What is the name of the coupling?
HURHT T 11 &1 52

(A) O Universal coupling (Correct Alternative)
(Correct Alternative)

(B) O Slip coupling
f&qu wufeiT

(C) O Clamp coupling (Chosen Option)
AT HURAT (Chosen Option)
(D) O Plate coupling
wie HufeRT

Question No. 2 / Question ID 155 Marks: 2.00
What is the colour of the aluminium metal?
YT T 31 T 82
(A) O Whitish grey (Correct Alternative)
T (Correct Alternative)
(B) O Yellow
dier

(C) O Reddish (Chosen Option)
T T (Chosen Option)
(D) O Silvery white
et arge

Question No. 3 / Question ID 145 Marks: 2.00
What is the name of fixture?

39 foheReR &7 =19 &1 82




(A) O Angel plate fixture
T
(B) O Modified angle plate fixture (Correct Alternative) (Chosen Option)
H’I’%WI’&;%’ T e freer (Correct Alternative) (Chosen Option)
(C) O Indexing plate fixture
R we

(D) O Plate fixture
wic R

Question No. 4 / Question ID 217

Marks: 2.00
Which formula is used to calculate the pressure?
=R &Y AT 67 & T8 o5 T o1 Iua fasa <irar g2
(A) O Force + Area
Force + Area
(B) O Forcel/Area (Correct Alternative) (Chosen Option)
Force/Area (Correct Alternative) (Chosen Option)
(C) O Force x Area
Force x Area
(D) O Force - Area
Force - Area
Question No. 5/ Question ID 74 Marks: 2.00
What is the disadvantage of flame hardening in the heat treatment process?
die dretie ufsrar o v g1fET &1 JHa T 872
(A) O Small depth of hardening
BRI &1 B RIS
(B) O Not suitable for small workpieces (Correct Alternative)
BT IH U & fog Iugad 7181 7 (Correct Alternative)
(C) O More distortion
3fferp
(D) O Long hardening time (Chosen Option)
g e A1 (Chosen Option)
Question No. 6 / Question ID 152 Marks: 2.00
Why tenons are provided at the bottom of base plate of milling fixture?
ffer freeRr & 99 Wi & Fae umT & T30 31 ueH fou S 82
(A) O For balancing workpiece
Tqferd B & forg
(B) O For clamping purpose
FAMRIT I
(C) O For guiding the tool
T I TEE HRA & g
(D) O For proper location of fixture (Correct Alternative) (Chosen Option)
fir=R @) T IR | didee HA & g (Correct Alternative) (Chosen Option)
Question No. 7 / Question ID 185 Marks: 2.00
Which chain drive provide noiseless and uniform drive?
B W = I1Ed Wid 3R gRBH S1Ed UeH B 872
(A) O Simplex chain
IGERESEEE]
(B) O Duplex chain
I
(C) O Toothed chain (Correct Alternative) (Chosen Option)
gﬂ-s' L] (Correct Alternative) (Chosen Option)
(D) O Triple roller type chain
foud AR U =
Question No. 8 / Question ID 260 Marks: 2.00

What is the frequency of maintenance symbol?

[ERATG Ucieb B BIebd! 1 22




(A) O Monthly
e

(B) O Weekly (Chosen Option)
(Chosen Option)
(C) O Daily (Correct Alternative)
(Correct Alternative)
(D) O Once in six month
G HEH A U IR

Question No. 9 / Question ID 209 Marks: 2.00
Which system gets compressed air as energy inputs?
B 4 gumeh # SHeif 37Ye S T A GRS ga1 (s TaR) Ui el 82
(A) O Hydraulic System (Chosen Option)
(Chosen Option)
(B) O Electrical System
3gel Tl
(C) O Pneumatic System (Correct Alternative)
(Correct Alternative)
(D) O Mechanical System
ApMed Red

Question No. 10 / Question ID 276 Marks: 2.00
What is the name of the crane?

3 b1 BT 19 T 872

(A) O Travelling crane (Chosen Option)
7T o (Chosen Option)
(B) O Pillar jib crane (Correct Alternative)
IGCE S (Correct Alternative)
(C) O Bracket jib crane
sifere forg

(D) O Gantry crane
DEE |

X

Question No. 11 / Question ID 78 Marks: 2.00




Which structure of steel contain 0% carbon?
W &1 o5 Ta=1 & 0% HTa gIdl 82
(A) O Ferrite (Correct Alternative)
(Correct Alternative)
(B) O Cementite
Hierge

(C) O Pearlite (Chosen Option)
(Chosen Option)
(D) O Austenite

Question No. 12 / Question ID 174 Marks: 2.00
What is the name of the part marked ‘x’ in fast and loose pulle% assembly?
?

aeht § X' & ¥u § faffd ymT &1 Ty F&

(A) O Crown pulley (Correct Alternative)
I3 g?ﬁ (Correct Alternative)

(B) O Flatdrive pulley (Chosen Option)
uﬁzsﬁagﬁﬂ (Chosen Option)

(C) O Fast pulley
BRE gait

(D) O Loose pulley
T el

Question No. 13 / Question ID 36 Marks: 2.00
Which material is used to protect slip gauge from rust?

f&Tu O &) &1 A S & for forg rht o1 Suan faar Sird 227
wo o

(B) O Kerosene
(C) O Petroleum jelly (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) O Wax
|

Question No. 14 / Question ID 42 Marks: 2.00
What type of abrasives are used in honing cast iron and non-ferrous materials?
HRE SR R 375 ACRIA B G P & [T [ USR & SUave BT STINT a1 SIrell 82
(A) O Aluminium oxjde
CIESIES)
(B) O Silicon carbide (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(C) O Boron carbide

(D) O Diamond

Question No. 15/ Question ID 277 Marks: 2.00
What is the name of foundation bolt?
BISSIA diee BT ATH 1 82




(A) O Rawl bolt
NNEIS

(B) O Bentbolt
dc diee

(C) O Conical washer foundation bolt (Correct Alternative) (Chosen Option)
IR BISSTH diee (Correct Alternative) (Chosen Option)
(D) O Eye bolt
3T

Question No. 16 / Question ID 146 Marks: 2.00
What is the name of jig?
39 77 &7 8 1 87

(A) O Channel jig (Correct Alternative)
fom (Correct Alternative)
(B) O Trunnion jig (Chosen Option)
gﬁl'l:[ﬁrﬂ'[ (Chosen Option)
(C) O Postjig
iRe

(D) O Solid jig

Question No. 17 / Question ID 135 Marks: 2.00

Which valve is used to permit fluid flow in one direction only?
$ad Ueb o2 & ga yarg B 3rgrfa 27 & e i ared o1 SugT fahar Wi 32
(A) O Needle valve (Chosen Option)

BIESEIGE] (Chosen Option)
(B) O Non-return valve (Correct Alternative)

79 e area (Correct Alternative)
(C) O Plug-cock

ISpkac
(D) O Pressure regulator valve

died

Question No. 18 / Question ID 150 Marks: 2.00




What is the name of clamp?
Y FAT BT AH FT 52

(A) O Wedge clamp
EEESE

(B) O Screw clamp (Correct Alternative) (Chosen Option)
p FAT (Correct Alternative) (Chosen Option)

(C) O Toggle clamp
ThTS et

(D) © Cam clamp
&Y &g

Question No. 19 / Question ID 15
What is the name of file?

Y B3 BT 1 T 372

(A) O Pillar file
e wigd
(B) O Dreadnaught file (Chosen Option)
@fs’ dic BEd (Chosen Option)
(C) O Warding file (Correct Alternative)
i WIgd (Correct Alternative)
(D) O Swiss pattern file
e O wrsa

Marks: 2.00

Question No. 20 / Question ID 232

Which type of filter helps to protect the pump from fluid contaminations?

9 UBR & fheer T U9 &1 dRa gerdf & gid 89 ¥ T & Aeg e 82

(A) O Suction filter (Correct Alternative)
TR feex (Correct Alternative)
(B) O Magnetic filter
' e

(C) O Absorbent filter (Chosen Option)
e (Chosen Option)
(D) O Mechanical filter

Marks: 2.00

Question No. 21 / Question ID 181
Which coupling provides rigid connection between two shafts?
59 YR &1 HURT e & BR 1 gl TR H 1 Ghall 872
(A) O Clamp coupling (Chosen Option)
FAT 1T (Chosen Option)

Marks: 2.00




(B) O Fast coupling (Correct Alternative)
TTE YT (Correct Alternative)
(C) O Safety coupling
AU HuferT

(D) O Universal coupling
HuferT

Question No. 22 / Question ID 60 Marks: 2.00
What is the method of build of size using slip gauge?

&1 7151 &1 IuAIT B b1 A 22

(A) O Loading
AT

(B) O Glazing (Chosen Option)
TARAT (Chosen Option)
) O Sliding

(D) O Wringing (Correct Alternative)
(Correct Alternative)

Question No. 23 / Question ID 80 Marks: 2.00

Which type of cutting tool is tempered by heating upto 230°C?
230°C T TTH IR [ THR &b BT ¢ BT SHIS (3T STl 32
(A) O Drills

(B) O Taps
eud
(C) O Turning tool (Correct Alternative) (Chosen Option)

Gd (Correct Alternative) (Chosen Option)
(D) O Reamers

Question No. 24 / Question ID 279 Marks: 2.00
What is the purpose of triangular frame base resting on ground in the frame of derrick lifting equipment?
iy A nuR SRH IS IuBUT Bt WA H HH TR 3R BT Ie=T HIT 872
(A) O Avoid slipping of load

SEILRREREEE
(B) O Prevent base from moving under load (Correct Alternative)
39 B @S & 9 31 A ABT (Correct Alternative)
(C) O Prevent the vibration
HUF B AT
(D) O Prevent imbalance of load (Chosen Option)
WIS & 3RIGAT B! AP (Chosen Option)

Question No. 25/ Question ID 96 Marks: 2.00
What is the use of ring gauge?

1 9 1 U | 82




(A) O Check shaft diameter (Correct Alternative)
T8 SITT B S BT (Correct Alternative)
(B) O Check tapered shaft diameter (Chosen Option)
TR MY R B} Sird HAT (Chosen Option)
(C) O Check hole diameter
DC Y BT S HAT
(D) O Check internal thread diameter
iR S Mg 1 Sird BT

Question No. 26 / Question ID 263 Marks: 2.00
What is the method of lubrication?

T 31 Ay | 2

(A) O Oil pump method
31 Uy fafy

(B) O Oil can method (Correct Alternative)
3mad 74 fafyr (Correct Alternative)
(C) O Gravity method (Chosen Option)
fafd (Chosen Option)
(D) O Splash method
o fafy

Question No. 27 / Question ID 93 Marks: 2.00
Which gauge is used to check the gap between the mating parts?

firem o YR & g U Y 51 = 3 T foret Tt 1 SO o i g2
(A) O Radius gauge
ERIKIE]

(B) O Feeler gauge (Correct Alternative)
LS| (Correct Alternative)
(C) O Slip gauge (Chosen Option)
(Chosen Option)
(D) O Plug gauge
T Tt

Question No. 28 / Question ID 9 Marks: 2.00
What is the name of screw?
Y T BT A9 T 872




(A) O Thread cutting screw
IS BT &P
(B) O Driver screw (Correct Alternative) (Chosen Option)
TP (Correct Alternative) (Chosen Option)
(C) O Self taping screw
I i &%
(D) O Grub screw
PEEH!

Question No. 29 / Question ID 164
What is the name of alloy consist copper and zinc?
39 iy 41g T 3T 1 § R qie SR o gia 82
(A) O Aluminium

(B) O Gunmetal (Chosen Option)
(Chosen Option)
(C) O Bronze
S
(D) O Brass (Correct Alternative)
Haa (Correct Alternative)

Marks: 2.00

Question No. 30 / Question ID 172
What is the name of the coupling?

£
5
v

(A) O Clamp coupling (Chosen Option)
T BT (Chosen Option)
(B) O Universal coupling (Correct Alternative)
HUfRT (Correct Alternative)
(C) O Plate coupling
wie HUfT

(D) O Slip coupling
feqa wufei

Marks: 2.00




Question No. 31 / Question ID 266 Marks: 2.00
Which cutting fluid is used for threading in general purpose steel?
G TS & Wia § ST & fore fora aRat uered &1 IuiiT foan v g2
(A) O Lard oil (Correct Alternative)
TS ST (Correct Alternative)
(B) O Dry
g
(C) O Soluble oil (Chosen Option)
?ﬁ?{[&'ﬂ%ﬁ (Chosen Option)
(D) O Kerosene

Question No. 32 / Question ID 246 Marks: 2.00
Which valve block flow in one direction and allow free flow in the other direction?
TS 3= o 7aTg I sdllch BT 3R g fo=n & 59 &l 984 oY Al 37 & o for area o1 SuanT {3 S 82
(A) O Gate valve
¢ ared
(B) O Non- return valve (Correct Alternative) (Chosen Option)
79 e area (Correct Alternative) (Chosen Option)
(C) O Globe valve
g aTed
(D) O 4/2 way Valve
4/2 3 9T

Question No. 33 / Question ID 239 Marks: 2.00
What is the name of pneumatic valve symbol?

I dTed Udie T TH T 82

(A) O Directional control valve (Correct Alternative) (Chosen Option)
ez frizor areg (Correct Alternative) (Chosen Option)
(B) O Roller valve
dled
(C) O Pressure valve
U=R dled
(D) O Flow control valve

yare Hau ared

Question No. 34 / Question ID 123 Marks: 2.00
What is the disadvantage of thrust ball bearing?
e stet foafa &1 I @ 82
(A) O Cannot take any vertical thrust load
1t SR 3R YR P T8 o Tl
(B) O Cannot take horizontal end thrust (Correct Alternative) (Chosen Option)
aﬁl\_:r US I ) KE;C| (Correct Alternative) (Chosen Option)
(C) O Cannot take any radial load
F1E ot ¥fega e TE & gapar
(D) O Cannot take load on both directions
Sl fe=mail 7 e 61 @ hd

Question No. 35/ Question ID 261 Marks: 2.00

What is the use of lubricant?
WED BT IUNT T 32
(A) O Increases the loading capacity (Chosen Option)

&r:l?nﬁaam% Chosen Option)
(B) O Improved machine efficiency (Correct Alternative)

G&IdT (Correct Alternative)
(C) O Increases the speed moving elements
EAEHGIE
(D) O Increases friction
CARAGI

Question No. 36 / Question ID 118 Marks: 2.00
Which alloying metal bearing can work at higher temperature and higher load carrying capacity?
I dTUEM SR 3 UR 98 & R S I1 et org faafe orf o g 82




(A) O Cadmium based alloy (Correct Alternative)
amefea firy YTd (Correct Alternative)
(B) O Copper lead alloys (Chosen Option)
PIUR G oy YTd (Chosen Option)
(C) O White metal
grge Hed
(D) O Castiron
PRC AR

Question No. 37 / Question ID 223 Marks: 2.00
What is the name of symbol used in hydraulic cylinder?
gISSIcie RIdex H vgad Uddids T 1H &1 82

(A) O Single acting return piston
et ufaee e faes
(B) O Double acting with crushing
BRI & 1Y Sod U
(C) O Single acting load returns the piston (Correct Alternative) (Chosen Option)
THd T YR fiees Aerar g (Correct Alternative) (Chosen Option)
(D) O Double acting power stoke
TIA TGt UlaR

Question No. 38 / Question ID 76 Marks: 2.00
Which type of key used if the hub of pulley has to axially slide on the shaft to some distance?
I 59 1 ool 1 318l U 9 $3 g8 ab IR R WSS BIAT ¢, d (¥ UHR BT goil o1 ITANT fasan S g2
(A) O Hallow saddle key
RNEESE

(B) O Circular taper key (Chosen Option)
TR BT (Chosen Option)
(C) O Feather key (Correct Alternative)
i (Correct Alternative)
(D) O Flat saddle key
dsd

2) WORKSHOP CALCULATION AND SCIENCE

Question No. 1/ Question ID 314 Marks: 2.00
Who prepares the cost of estimation?
BT B ART DI TIR BT 572
(A) O Quality Inspector

oA FRiee
(B) O Estimator (Correct Alternative)
S{JHTD (Correct Alternative)
(C) O Operator (Chosen Option)
SHRER (Chosen Option)
(D) O Draughts man
SURHHA

< <

Question No. 2 / Question ID 295 Marks: 2.00
What is the direction of frictional force against a motional object?
foreft MRS a¥g & favs ovo 9@ 31 foxn ®m 82
(A) O Opposite to the object (Correct Alternative)

a% F "M (Correct Alternative)
(B) O Perpendicular to the object
TG P A
(C) O Inclined to the object
a%g & fou =g
(D) O Parallel to the object (Chosen Option)
X P FHIR (Chosen Option)

Question No. 3 / Question ID 306 Marks: 2.00




Which symbol is used to express change in length?

TS H IR B by Hbd I T oIl 82

(A) O ol (Correct Alternative) (Chosen Option)
8l (Correct Alternative) (Chosen Option)

(B)O
© o0

(D) O

r—roo ——

Question No. 4 / Question ID 313
What is the other term of pocket reference in engineering works?
Sofifrafie wraf & uidse Y0 o1 gIRT Xeg T 82
(A) O Hand book (Correct Alternative)
(Correct Alternative)

(B) O Hand tool (Chosen Option)

B 3MWR (Chosen Option)
(C) O Good book

Is g9
(D) O New book

4P

Marks: 2.00

Question No. 5/ Question ID 299
Where the centre of gravity of a circle lies?
TF 0 & [SATHYUl BT H5 el [Ud 872
(A) O Any where on its diameter
TS N R BIs wIgt
(B) O Any where on its circumference
IRfY R FIs et
(C) O Atits centre (Correct Alternative) (Chosen Option)
3?%?‘ FgH (Correct Alternative) (Chosen Option)
(D) O Any where on its radius

TP BT R B S8t

Marks: 2.00

Question No. 6 / Question ID 302
What is the formula for area of the circle?

& & P T T F1 87

Marks: 2.00




(B)O

© 0 (Correct Alternative)

(Correct Alternative)

(D) O
(Chosen Option)

(Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 327
The Included angle of pipe thread is around___

U IS T A HIU AR 3R B
(A) O 75° (Chosen Option)
75° (Chosen Option)
(B) O 100
10°
(C) O 55° (Correct Alternative)
55° (Correct Alternative)
(D) O 15°
15°

Marks: 2.00

Question No. 2 / Question ID 323
Identify the given rivet.

fau e f¥de & ugaH|

(A) O Snap head (Correct Alternative)
%3' (Correct Alternative)

(B) O Flat head
SIS

(C) O Pan head
EER

(D) O Counter sunk (Chosen Option)
HT3cR b (Chosen Option)

Marks: 2.00

Question No. 3 / Question ID 317
Which of the following is temporary fastening?
frafifed & ¥ P srurh wref 82
(A) O Screw (Correct Alternative)
P (Correct Alternative)

(B) O Keys
it

(C) O Rivets
(D) O Welded (Chosen Option)
=S (Chosen Option)

Marks: 2.00

Question No. 4 / Question ID 318
Which of the following is not a main part of rivet?

fafeafad o @ @ a1 e &1 g T 8 82

Marks: 2.00




(A) O Shank
T

(B) O Head
8S

(€)O Tail

(D) O Point (Correct Alternative) (Chosen Option)
ﬁg (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 337
GMAW stands for
GMAW ¥ foT gt &
(A) O Gas Metal Arc Welding (Correct Alternative)
Gas Metal Arc Welding (Correct Alternative)
(B) O Gas Tungsten Arc Welding
Gas Tungsten Arc Welding
(C) O Gun Metal Arc Welding (Chosen Option)
Gun Metal Arc Welding (Chosen Option)
(D) O Germanium Metal Arc Welding
Germanium Metal Arc Welding

Marks: 2.00

Question No. 6 / Question ID 330
Which symbol is used for lap joint?

AU Sige & fog fra Riset &1 v fovar wirar 82

(A)O
B)O
(Chosen Option)
(Chosen Option)
(®Xe)

(Correct Alternative)

(Correct Alternative)

Marks: 2.00




(DXe)

4) EMPLOYABILITY SKILLS

(A O
B0
©o
®»O

Question No. 1/ Question ID 359
Gestures, facial expressions, eye contact are examples of....
Gestures, facial expressions, eye contact are examples of....

written communication (Chosen Option)

written communication (Chosen Option)

verbal communication

verbal communication

non-verbal communication (Correct Alternative)
non-verbal communication (Correct Alternative)
oral communication

oral communication

Marks: 2.00

(A) O
B O
©o

GO

Question No. 2 / Question ID 450
Which one is a dont's in an interview?

g § BIF W TR 7

Listen and respond

AT 3R SfaTE &

Turning up late (Correct Alternative)
R 3T (Correct Alternative)
Keep eye contact (Chosen Option)
3§ YuH TG (Chosen Option)

Do your home-work

3T {

Marks: 2.00

A
A

(A) O
(B) O
©o
(G)Xe;

Question No. 3 / Question ID 389

Marks: 2.00

sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
sentence is a sentence that expresses a direct , command, invitations, warning or instruction.

compound

compound

adjective

adjective

simple (Chosen Option)

simple (Chosen Option)
imperative (Correct Alternative)
imperative (Correct Alternative)

(A O
B)O
©o

®)o

Question No. 4 / Question ID 476
When we attempt to convert a word file into pdf, we call it...

T B U 9 WIS B pdf & F&ei BT UaH B & o 87 I —— PEA T ...

doc

doc

jpg

Ipg

copy (Chosen Option)

1T (Chosen Option)

data conversion (Correct Alternative)
31 Favid (Correct Alternative)

Marks: 2.00

Question No. 5/ Question ID 381
Travelling in the sea is called a
Travelling in the sea is called a

Marks: 2.00




(A) O voyage (Correct Alternative)
voyage (Correct Alternative)
(B) O fishing
fishing
(C) O tour (Chosen Option)
tour (Chosen Option)
(D) O boating
boating

Question No. 6 / Question ID 356 Marks: 2.00
When you start a discussion on a topic, what do you say?
When you start a discussion on a topic, what do you say?
(A) O Let me say

Let me say
(B) O Let's us finish (Chosen Option)
Let's us finish (Chosen Option)
(C) O Let's discuss (Correct Alternative)
Let's discuss (Correct Alternative)
(D) O Let you start
Let you start

Question No. 7 / Question ID 571 Marks: 2.00
Conditions or practices conducive to maintaining health and preventing diseases, especially through cleanliness is
called

FIT TG & T S Ha A a1 JUTE: WA 37R T H UG, fIRY U § Wadl & T1eqq HE ST B
(A) O hygiene (Correct Alternative)

¥GwIdT (Correct Alternative)
(B) O prevention

(C) O lifestyle
Sftae et

(D) O good health (Chosen Option)
33T XARY (Chosen Option)

Question No. 8 / Question ID 477 Marks: 2.00
A secure Wi-Fiis one......
% PR Wi-Figg g ol ...
(A) O that allows everyone to connect
Tt Bl Hiae B B SFAM ST B
(B) O has a password to login (Correct Alternative) (Chosen Option)
ARE #1 & fe Te URIGS @ (Correct Alternative) (Chosen Option)
(C) O open to the public
ufstich & fo get §
(D) O open by landline
' ERUEIRE]

Question No. 9 / Question ID 411 Marks: 2.00
Everything about a person on the internet like profile on Facebook, Twitter and Instagram is called.....
Facebook, Twitter 3R Instaagram WX Q‘FWI’%FI & g Afed B IR H 3?'@?.’ R Iudeg gH iﬁGﬁ Gl ---ﬁ?f %
(A) O social media
oifRrera Hfgar
(B) O online profile or digital footprint (Correct Alternative) (Chosen Option)
T 71 feforea @?ﬁ? (Correct Alternative) (Chosen Option)
(C) O internet

(D) O networking
eafdT

Question No. 10 / Question ID 557 Marks: 2.00
Registering on the portal provides a "learn while earn" opportunity.

Tiee TR ISR B T US| "HHTE P 1Y TR BT TR Herar g1

(A) O NAPS (Correct Alternative)
NAPS (Correct Alternative)

(B) O UPSC
UPSC

(C)O SsC
SSC
(D) O Employment Exchange (Chosen Option)
(Chosen Option)

Question No. 11 / Question ID 351 Marks: 2.00
When you borrow a screwdriver from a trainee, you should say..
When you borrow a screwdriver from a trainee, you should say..
(A) O | take your screwdriver (Chosen Option)
| take your screwdriver (Chosen Option)
(B) O Can you give me your screwdriver (Correct Alternative)
Can you give me your screwdriver (Correct Alternative)
(C) O Give me your screwdriver
Give me your screwdriver




(D) O The screw- driver is nice
The screw- driver is nice

Question No. 12 / Question ID 398
When a worker contributes to bring the best output by using the available resources, the worker...
T T DI JueTs JAILAT BT SUTNT HReb GarH 33eYe A & TNEH &l §, d 98-8
(A) O productive (Correct Alternative)
Jdlgqd (Correct Alternative)
(B) O selfish (Chosen Option)
w@rff (Chosen Option)
(C) O bad
RIS
(D) O ineffective
SguTat

Marks: 2.00

Question No. 13 / Question ID 523 Marks: 2.00
What is required to get the feed back of your customers?
3T UTEH! BT BISad U 3 P foTg T SHTIRID 57
(A) O Market survey (Correct Alternative) (Chosen Option)
Wﬁ&lﬂl (Correct Alternative) (Chosen Option)
(B) O Advertisement on TV
At R fagm=
(C) O Bill boards
IECKIS]

(D) O Brochure
EIEN

Question No. 14 / Question ID 404
A person with high emotional intelligence has
I SHIHA greforor-d aTd odfad & g B gl
(A) O lot of positive qualities (Correct Alternative)
Yh APRTHD UT (Correct Alternative)
(B) O physical strength (Chosen Option)
fad (Chosen Option)

Marks: 2.00

(C) O ego
BUE R
(D) O lot of negative qualities
ADRIHD 0T

Question No. 15/ Question ID 563 Marks: 2.00

Maintaining trimmed and clean nails, brushing teeth twice a day, washing hands before and after food are examples
(o) FRTUPRTI hygiene.

hygiene. @¢ 3R T ARG X1, fo & & IR gl & 511 T, WIS Y Uge AR SIe BTy &1 ... RS
JERR G
(A) O social (Chosen Option)
(Chosen Option)

(B) O organizational

HSATHD
(C) O community

el

(D) O personal (Correct Alternative)
(Correct Alternative)

Question No. 16 / Question ID 562
Taking care of the environment around us is called hygiene.
3T 3T-UT & TTATaRU] B SHTE bl Gl HEAN 3.
(A) O community (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O organizational

RUGEICED
(C) O society

GIEINED

Marks: 2.00

(D) O personal
Sl

Question No. 17 / Question ID 413
When a person is given information about how he/she is doing in an effort to reach a goal, it is called...

foreft ez dep Ugan & U ¥ 98 T B IeT 8, 39 IR A Ofd fohaft afekt Bl b 37 Y T Bed 82...
(A) O feedback (Correct Alternative)
S (Correct Alternative)

(B) O frightening

ST
(C) O argument

EREN
(D) O verification (Chosen Option)

(Chosen Option)

Marks: 2.00

Question No. 18 / Question ID 407 Marks: 2.00




What is the process of formally introducing oneself called?
W 1 UG U ¥ URTd 37 B Ufhal Bl - F8d g
(A) O hiring
(B) O self-introduction (Correct Alternative) (Chosen Option)
w@-uiag (Correct Alternative) (Chosen Option)
(C) O seeking
e

(D) O decision

Question No. 19 / Question ID 440 Marks: 2.00
Which one is a search engine?
T @ o 9 3R R
(A) O Flicker
Flicker
(B) O Google (Correct Alternative) (Chosen Option)
Google (Correct Alternative) (Chosen Option)
(C) O Hotmail
Hotmail
(D) O Facebook
Facebook

Question No. 20 / Question ID 342 Marks: 2.00
Hi, how are you, what is up, these are examples of....
Hi, how are you, what is up, these are examples of....
(A) O Impolite communication
Impolite communication
(B) O Polite communication
Polite communication
(C) O Formal communication
Formal communication
(D) O Informal communication (Correct Alternative) (Chosen Option)
Informal communication (Correct Alternative) (Chosen Option)

Question No. 21/ Question ID 433 Marks: 2.00

What protect hands from cuts, burns or harmful liquids?
BT & e, TiaA I1 BHPRS dRa USTdf ¥ I 1T 872
(A) O Boots

9cd
(B) O Gloves (Correct Alternative)

T¢7od (Correct Alternative)
(C) O Goggles (Chosen Option)

(Chosen Option)

(D) O Helmets

Question No. 22 / Question ID 365 Marks: 2.00
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.
(A) O big
big

(B) O good (Chosen Option)
good (Chosen Option)

(C) O expensive
expensive

(D) O safe (Correct Alternative)
safe (Correct Alternative)

Question No. 23 / Question ID 358 Marks: 2.00
You are requested to complete the given assignment by Monday This is an example of....
You are requested to complete the given assignment by Monday This is an example of....
(A) O anorder

an order
(B) O formal communication (Correct Alternative)
formal communication (Correct Alternative)
(C) O informal communication
informal communication
(D) O arequest (Chosen Option)
a request (Chosen Option)

Question No. 24 / Question ID 490 Marks: 2.00
The physical part of a computer is called

HeR & Wifdds U S FEA B
(A) O malware
EEERN

(B) O hardware (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O software
RILEERN




(D) O spyware

Question No. 25 / Question ID 473
A computer that provides data to other computers is called.......
TS HUR Bl G IR P 3T UG HR & Y - FHgT ol g
(A) O Server (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(B) O Processor
TR

(C) O Search engine
e

(D) O Super computer
YR PEX

Marks: 2.00




